
Dear editor,  

We have identified a small typo in Eq.15 that was missed in the original manuscript. The equation is 
used to estimate the maximum possible throughput that can be achieved with the 
interferometer. The typo is not critical to the results of the paper and is only used on line 77 to 
estimate the maximum throughput.  The throughput is calculated assuming a circular aperture 
area with radius, r and a square field of view where the off-axis angles are defined by, 
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estimated as:  Ω ≈ (𝑖௠)ଶ 

 

Right now, equation 15 is given as: 
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 But this should simply be changed to:  
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Accordingly, the throughput given in line 77 should also be changed to 0.235 cm2sr. This change 
doesn’t affect anything else in the manuscript.  

 

Regards, 

Jeff 

 


